Steps to make a negation in simple present

 

Step 1 How many verbs are there in the affirmative sentence?

 

Answer; one verb → 
Step 2 Is that one verb a form of to be? 
2a Yes, then use not in the sentence (am not, isn’t, aren’t) 
 Sheila is a nice girl. → Sheila isn’t/ is not a nice girl?
2b No, then use -subject -the auxiliary don’t/doesn’t -infinitive
Sheila wears a red dress→ Sheila doesn’t wear a red dress.
I like films→ I don’t like films..
Answer; more than one verb→
Step 3 use - subject -the auxiliary -verb  

Sheila can speak English→ Sheila cannot/can’t speak English
Sheila has got a nice bike→ Sheila hasn’t got a nice bike.
